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B.Sc. DEGREE EXAMINATION, NOVEMBER 2015.
II YEAR — III SEMESTER
Allied — STATISTICAL METHODS AND 
ITS APPLICATIONS — I
Time : 3 hours	    Max. Marks : 60
SECTION A — (10 × 1 = 10 marks)
Answer any TEN questions.
1. What is the need for tabulation of data?
2. Define Statistics.
3. What is the mode of the observations 10,2,3,10,10,5,2,10?
4. Define Harmonic mean.
5. The arithmetic mean of 5 observations is 20.  If 6 is added to every observation, what is the new arithmetic mean?
6. Give an example for Independent events.
7. State the mean and variance of a binomial distribution.
8. Calculate range for the following data:
200, 210, 208, 160, 220, 250.
9. Define independent events.
10. What is a discrete random variable?
11. Define mutually exclusive events..
12. What is mathematical expectation?
SECTION B — (5 × 4 = 20 marks)
Answer any Five questions.
13. Distinguish between diagrams and graphs.
14. Define classification and explain its types.
15. Two balls are drawn at random from a box containing 6 red balls, 4 white balls and 5 blue balls.  Determine the probability that they are different colours.
16. From the following data, compute the values of quartile deviation.	
	       Marks:
	10
	20
	25
	40
	50

	F:
	20
	30
	50
	15
	5


17. If X is a Poisson variate such that P(X=2) = 9P(X=4) + 90P(X=6).  Find the mean and variance of the distribution.
18. Daily income of ten families of a particular place is 	given below. Find out Geometric Mean.
85, 70, 15, 75, 500, 8, 45, 250, 40, 36.
SECTION C — (3 × 10 = 30 marks)
Answer any THREE questions.
19.	In the following table is given the number of companies belonging to two areas A and B according to the amount of profits earned by them. Draw Lorenz curves and interpret the results.	
	Profits earned
   (` ‘000)
	No. of Companies

	
	Area A
	Area B

	6
	6
	2

	25
	11
	38

	60
	13
	52

	84
	14
	28

	105
	15
	38

	150
	17
	26

	170
	10
	12

	400
	14
	4











20.	Compute mean, median and mode from the following data:
	Income (Rs.) more than:
	10
	20
	30
	40
	50
	60
	70
	80

	No. of persons                :
	72
	67
	59
	50
	36
	21
	9
	3


19. 21.	Obtain the Karl Pearson Coefficient of Skewness from the following data.
       Marks above      :0	10	20	30	40	50	60	70	80
	       No. of Students  :150	140	100	80	80	70	30	14	0
22.	State and Prove Baye’s theorem.
23.	 The mean weight of 500 male students in a certain college is 151 lb and the standard deviation is 15 lb. Assuming the weights are normally distributed find how many students weigh 
	(a)	between 120 and 155 lb 
	(b)	more than 185 lb.
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